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1 TIPO:
1)2* =64
2)103% =1000
3)3%% 227
4)10°* =10000
5)23% =256
6)9°% =81
7)25* =625
8)9* =243
9)8%% -256
10)27"=729
11)4* = 64

12)100% =10000

13 3\" = 2
3)(5) 32

2x
14) = 27
(%) 125

X
-

EQUACUES EXPONENCIAIS

2x=4

1608 gt

26)3°* _/243
27)3% 27




RESOLVA AS EQUACUES:

1)2* _ 256
2)3% _ 729
32 . 2
16
4)3% 1)
81
5)9% _243
6)4x = 1128
75 = 1
8)5* =12 5
9)5% _ 1
125

10)10* = 0,001
11)32%=2048
12)49% = 7

:
Vg -

14)4% _ VB
15)25% _ Y125




22TIPO:

1)6x+2 36

=

2x+3 _

2)9 27

2x-5 .

3)16 128

21?-3

4)49 =343

5)1284%2 -1024

X+4

6)81 =2187

2 3 _ B
25

8)16%3 - 1

7)5%

9)8¥*2 _ 1
32
xa-sx
10¢ 10 =1
TRT

135 .

8x--l

14)9**3 —o7%

3x+1 g

15)2 4

16)25% % .1

17)8% 4 os®
X-1

18Y4%) =

Xl
193% -

X2
206%) =

x+3

a1fe*) -

X2

25%™3

16
9
gx

16




3¢ TIPO:

2x 5,25 + 4 =0

1) 2
2) 9%-2.3% = 3
3)9%-4.3%= 45
4)10.2%- 4%=16
5)4% + 8 = 9.2%
6)49% + 7 =8.T"

)2%% 4 32 =12.2%

"
8)4* + 25-20 =0
9)9%-4.3% =45
10)10.2%-4* =16
11) 4* + 8 =9.2*
12049% + 7 = 8.7
13)5% & 4.5" =5
14)81%-9% =6

15)5°%_6.5% & 5=0




RESOLVE AS EQUACUES EXPONENCIAIS:

1)5* =3125
2)49% = 7
3)10* =10000
4)3* __ 1

243

5)2 7°% & 3

9
6)10% _ 1
100
725%% = 1
8)(0,3)™ =0,09
NT = 7
10)25% _ 1
5

11)163% = 32

X+3 -

1)10 1
2)4x+2 ka
64

3)2563%* .1
2
5)7* ~* a1

6)92%~3 o1

2
75 = 625

8)32x+3 ==93x+4

x2—5x+6 &

9)6 1

X+3

10)81°%° _ 1

27

11)4

2
12)2x +2x% = 8

13)(22:\‘:»&3

14)27

15) 7"

=
4
2 x+3 g3x+1

16)4%=-2* =12
17)3°%-28.3% 4 27=0
18)4* -9.2* 4#8=0

19)9% 4 3=4.3%

20) 49%~5.7"=14

21) 2%% 4 32 = 12.2F
RESPOSTAS

1)5 1)-3
2) 1 2)-5
¢ 3)~ 5
3)4 3
4)-5 4)%;
5) % 5)=2 e 2
6)=2 6) 3
7) © =2 e 2
8) 2 8)- 5
9)1 4
9)2 e 3
1°)f% 10)- 15
.
11) 5 11)0 e 3
12
12) 0 12)-3 e 1
13) 3 13)-1
14)_-?- 14)" 8
3

15)-1




